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1. (a)

(b)

(c)
(d)
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Sara goes to driving school to learn driving.
Give two different mathematical concepts
she would use. Justify your answer.
‘Children learn better in groups’. Justify this
statement with the help of two suitable
examples in context of learning the concept
of time. .

A child reads 405 as forty five suggest two
activities that will help her realise her error.
At what stage would you introduce the
symbols X and + in the class ? Give reasons
for your answer.
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(e)
2. (a)
(b)
3 (@)
(b)
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Multiplying 4 by 5 gives 20, which is bigger

‘ 1 1
than both 4 and 5, but multiplying 1 by 5

1 1
gives 30" which is smaller than both 1 and

1
5 Why ? Suggest an activity which class

4 children can do to be able to understand
the difference.

List three pre number concepts and explain

how knowing these concepts helps children

of Class 1 to learn counting.

Give an example each, with justification, to

illustrate the following statements :

(i) Children know some mathematics
before they enterformal school.

(ii) A single mathematical expression can
represent several situation.

Why do children have problems in solving
sums of addition and subtraction with carry
over ? Give two reasons. Design two
activities to help children overcome these
problems.

Repetition is not boring. Justify this
statement with help of two activities for
teaching addition and subtraction of
fractions.



4. (a) Children have several misconceptions 6
regarding negative numbers. List four of
them. Also, for any one of these
misconceptions, give a detailed strategy for
helping the children correct it.

Give an example each of an open and closed 4
figure. Describe a method which children
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of class 4 can use to determine if a given
figure is open or closed.

5. (a) Explain the difference between capacity ¢
and volume. Suggest an activity to help
children of class 5 understand this
difference. Suggest another activity that
will help you assess if the children have
understood their difference.

(b) Give two different skills you would like to 4
develop among children of Class 3 while
teaching the measurement of length.
Describe two different activities you would
undertake to help children learn these skills.

6. (a) Listtwo common errors that children make 8
while adding and subtracting fractions.
Describe two activities to help children
understand the concept of addition and
subtraction of fractions. How will you
‘assess the success of your teaching
strategy ?
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(b)

(b)

()

Explain the relationship of arithmetic and
algebra with the help of a suitable example.

Memorizing tables enables children to, solve
problems of multiplication but does not help
in conceptual clarity. Justify the statement.
Explain the meaning of the term variable
with the help of an examples. Describe an
activity you would undertake with children
of Class 6 to explain the concept of variable.
What does ‘algorithm’ mean ? Give an
algorithm for division of one decimal
fraction by another. Explain why this
algorithm works.

8.  Explain and illustrate the E-L-P-S sequence in the

context of learning the concept of division.

Develope a lesson plan for teaching and

evaluating the concept of division using the

E-L-P-S sequence.

9. (a)
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Describe activities to help children learn the

following :

(i) The concept of past present and
future.

(ii) Difference between the instant of time
and time interval.

(iii) Reading the time in 24 hour clock.
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(b) Describe an activity to help a child 4
understand 0.1 > 0.08. Explain why you
think this activity will help.

10. Draw pictures to represent the following : 10

(@) Comparing two objects which look different
in size but have same volume.

(b) Measuring the Area of an irregular figure.

() 0.1+0.01+0.25

(d) 7/5.

() 7/8<12/13.
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7/5.
7/8 < 12/13.
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